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IMPORTANT INSTRUCTIONS

This Booklet has a cover ( this page ) which should not be opened till the invigilator glves signal
to open it at the commencement of the examination. As snon as the signal Is recelved von should
tear the right side of the booklet cover carefully to open the booklet. Then proceed Lo answer the
guestions.

This Question Booklet contains 200 guestons.

Anawer all questions. All questions carry equal marks,

The Test Booklet 15 printed in four serfes eg. [A] [B| [ C ]| or [ D] ( See Top left side of this
page ). The candidate has to indicate In the space provided n the Answer Sheet the series of the
booklet. For example, if the candidate gets series booklet, he/ahe has to indicate in the
slde 2 of the Answer Sheet with Blue or Black Ink Ball point pen as follows ;

AW iBiicI(D]

You must write your Reglster Number in the space provided on the top right side of this page. Do
not write anything else on the Question Bookletl.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet
provided, fatling which your Answer Sheet will not be evaluated.

You will also encode your Register Number, Subject Code ete., with Blue ur Black ink Ball point
pen In the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fafl
to encode the above information, your Answer Shest will not be evaluated.

Each question comprises four responses (Al, (B, (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheel. In case you feel that there are more than one correct
response, mark the response which you consider the besl. In any case, choose ONLY ONE
response for each guestion. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.

In the Answer Sheet there are four brackets [A]1 B 1[ C | and [ D | against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each guestion. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one guestion, the answer will he treated as
wrong. eg. i for any ltem, (B) is the correct answer, you have to mark as follows -

[A] @ IC][D]

You should not remove or tear off any sheet from this Question Booklel. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination 18 concluded, you must hand over your Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination s
over.

The sheet before the last page of the Question Booklet can be used for Rough Wark,

Failure to comply with any of the above mstructions will render you liable to such actitn or
penalty as the Commission may decide at thzir discretion.

In all matiers and in cases of doubt, the English Version is final,
Do not tek-mark or mark the answers in the Question Booklet.
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1. delldsnefle (Silicon) Hlewren blar sL_smb soowse@s srroob

A gl Grry Bldage Callu geamrab

B) ssmeouw edt dasor Gau gonsb

C) e 60 GsoGlousfl

D) epdu &’ @ Gl Geusf,

Semiconducting property of silicon is due to

A) ils positive temperature coelliclent of resistance

B)  its negative temperature coeffleient of resistance

C) wide band gap

m narrow band gap.

2. gy gell yelleow eubmenw peb Cryb

A) Al B) S8hublo
Cl  4plblbd D) 2 @8 b,
Light from the sun reaches the carth in

A) 45 minute H]  H minute
(@ 4 minute D) 2 minute.

3. &8y Gar@éslu Beramasdla am fé mradden (Electric heaters)
@ah:-ﬂrﬂ G gllgus (Irons) uu_u;é"u_‘t@éﬂg}ga 7

Al L s eaT B) s

C) gmbigib D] en&Cyrb.
Which of the following is used in electric heaters and irons ?
A)  Tungsten B} Steel

C) Copper D)  Nichrome.

4. &Qp Omr@dsiul@erer 2 uspempila gem, a6 Gprild Qb Kl
Causdang semall 2 geyFing ?

Al Guwsedlur wrred Bl sussoreail

¢l  dme semal D) Geugysfl S,

Which one of the [ollowing instruments is used lo measure lhe speed of water
through a pipe ?

Al McLeod gauge B)  Pressure gauge

) Screw gauge D) Venturimeter .

% [ Turn over
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wlsgdirtssfler snyh, ahs sears seral Iu@Sips 1
A) HCeurifi Lt (£18) B) s grid(d) sea
C)  geflurednG(Light year) D) ger St
The distance of stars is measured by the unit
A)  kilometre (km) B}  angstrom (A) unit
C)  light year D} glga melre .

st Nwé Gwrerenm(Theory of relativity) &G Qar@aatiulL G ol @ meafiiméo
1905~ 6 Glom HaHsiLnL g

A) emmtrBurt i B) grhbsdn

C)  ouGumt D) speTeuedT,

Theory of relativity was proposed by which one of the following sclentsts in the
year 1905 ?

Al Rutherford Bl  Thomson
C) Bohr D] Einstein.

maursapdld smuopgsisn Gl grd sguesdl Haaubfle, semisam 2 mauld
o LGUTSHLLRSSLLGD seaditiurs (Moderator)

A) it (Hy0) B) dlgrenul
C)  amenht (D20) D) egepfidene.

The moderator used in the nuclear reactor at Madras atomic power station in
Kalpakkam Is

Al water (H50) B)  graphite

i heavy water (Dy0) D) npone aof these .
G Gur &rituss Guibensdlé Geairy 2 husdurdpg

Al errugiLe UV sgitsst allmayflagre

B) artugy e IR sdltsea alloearflagmd

0 yhdssisn snl o o sreulls sdisd allwan flaugrd
D)  arfugi e X sdltsen aflemaufougrd .

Radio carbon in nature is produced as a result of

A)  the action of UV rays on ordinary earbon

B) the action of IR rays on ordinary carbon

C)  the action of cosmic rays on earth’s atmospheric nitrogen

D) the action of X-rays on ordinary carbon .
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9. gellflsn Geuan #Gy QaTEEsILL Refrer S mmesgdld adlab
Al dlpeudisen
‘EJ & eoinTiorie e
Cl  enmybssr
D)  eaenapiigin Cuss g3y wrdiflurs Blmébmin | _
The speed of sound is higher in which one of the following mediums ?
A) Liguids B)  Solids
C)  Gases D) Same inall .
10, &Gpueher e wrppo, SiERbeE Vlenenn: (Fisslon) wihpb 2EAHHT @)eeoriy
(Fuston) fla peysefler oidlsomea 2poé Clauelliun. snreonome sy
Al Goudl puhme Qeautiu B bmesre wrmsd
Bl yGyriirdrmet By sraaents wn s
C)  Mleom sédlure orpse - paraveeiear sumliCime g e Lig
D) @uidly esd Mechanteal energy) Seucis sédlur s (Heat enerdy) 1omgyse.
The huge amount of energy released in nuclear Nssion and fusion reactions s
due to the conversion of
A)  chemical energy into heal energy
B) protons into neutrons
Cl mass into energy, according to Einstein's equation
D)  mechanical energy into heat Energy .
11.  Garimurend
A)  pEdlensureng Bl  Glodlae Gansmig
Cl smpigsen e olug D)  siflegsden o ug,

Drinking soda is

Al meutral B} ampholeric

C)}  basic D) acidic.
: 12, dpfyes sdda STEILRE 57

Al aBureaflub oy &enGeal B] esrddlub sisauGen
) Cl  Ourierduin oy semGa D)  Gerqubd suéenGal.

Which of the following is found in kidney stone ?

A) Ammonium oxalate B) Caleium oxalate

C) Potassium oxalate D)  Sodium oxalale .
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13.

14.

15,

16.

17.

o [paesar e OIS AftLy auysuepsGDh amy eglT

A srtruss Curlemsasd B)
C) empLryev R TLIC D)
Which of the following Is a laughing gas ?
A) Carbon monoxide B)
C)  Nitrous oxide D)
@)D & o e seTe Guod FHEHTHD LD
A) Freicuem T os ay e B)
c) e apdlefliy D)
Coating of zinc over iron article s known as
A) Galvanisation B)
C) Electrorefining D]
0 et Byl SGLTGE orEIUE

A 2Cumge

B)  SGuims g s SBuwrrumb
C)  &Curg g QuriLr Al Guren @
D)  &@wr.umb.

Tincture of iodine is
A) Iodine B]
C) lodine and potassium iodide D)

s Spmey aufles
A)  Gurées > gl &5 > i B)

C) mle 5> 2fidl > Quréams D)
The protein content is of the order

srtuet oo 580

saut e 2 Heme0H.

Carbon dioxide
Sulphur dioxide .

WBler wée

L&,

Electroplating
Etching.

lodine and lodoform
lodoform .

Ll s > Curéams > eV
Qurdens > &ME > ol &6.

A soyabean > egg yolk > rice B} egg yolk > soyabean > rice
C) egg yolk > rice > spyabean D) soyabean > rice > S£8 yolk .
£y @IS Geierauppiet shurad QurGhsh G0

Al Sreu ghi&b — gl

B) #lyeu Qe — Guntt g

Cc) @prg SyTasb — Qeueiref]

D)  u&emD Gleusirefil - it
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Which one of the following is correctly matched ?

A)  Liquid gold
B}  Liquid silver
C)  Aqua regia

D) Green silver

Lead

Mercury
Silver

Copper .

18, &8 el Geremainpet sflurss Curmbgb Geg

Al wifl
B) aneuy o
C) drremus

D) o“nl..]ﬁl mifletr

—

whs fleve sriudr
Blen &L &d)
2ffD s gd

STy seranoueter smtuedr,

Which one of the following is correctly matched ?

A)  Charcoal
B}  Diamond
C)  Graphite
D)  Fullerene

Inactive carbon
Conductor
Insulator

Soluble form of carbon .

19. ulgué I g ulgué e Clurmgd, &Gy Qan@ésiu Gever @illGsmens
Laran® sflurer elaLaug Carplsp

uligwés I
a)  Oel QLCgr edle
bl glyes engun. et
¢ eamlrmer Cuisaad

d) sritUsT enl 2 demen(f)

GPliRes
a
A 2
B) 1
0 2
D) 2

x !'?OIJ

—

B e w

o C T Z

d
4
4

uC g IT
1} eeaib Geudunrgd
2) gt srée srpef
3]  pgrébs” eflCurger
4) GCagrésb smyem
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Match List I with List II correctly and select your answer using the codes given
below :
List 1 List II

a)]  Lead tetraethyl 1, Global warming
b) Liguid hydrogen 2. Antiknocking agent
cl Hydrogen peroxide 3. Rocket fuel
d) Carbon dioxide 4. Bleaching agent
Codes :

b c d
A 2 1 3 4
B 1 2 4
C) 2 < 3 1
D) 2 3 1 1.

20.  &|pmetin sursfluksener seue :

208! (A): Qeusiefl QUL sear arhlleudnd ClumTps HbEwD flnwrs whgdpa.

smreens (R) : Qeuchal] 2 5elgtarind Sa-bE féiat oy &anevl 6

wrpdlpg.

#8p P Geiren @l ge sfurer alloLomus Caibbigd

Al
B)
C)
D)

(A) s (R) o sfl. (A} dg efwren snyeoh (R)

(Al (R © #f). gyeres (A &g sfluran srpann (R] s
(A) F ey (R) geun)

(A) geuny gy (R) &,

Consider the following statements :
Assertion (A) 1 Silver articles on exposure (o air become black .

Reason (R} : Silver is oxidised to silver oxdde.

Now select your answer according to the coding scheme given below :

A)
B)
C)
D)

Both {4 and (R} are true and (R} is the correct f:xpla_naﬁnﬁ of (4)
Both (A) and (R} are true, but (R} is not the correct explanation of (A)
{A) Is true, but (R) is [alse

{A) is false, but (R} is true.
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2l. ygmadldr Geasafla #Gp Carfasiucfea ahs wosurar QUG

poeiremnwrs alerhigding 7

ﬁ«l- BlsGmn Linelledsanr() B) Qs Gamey

C) «-D-gasCaraunBeanmeay D) Gy ageybléeman.

Which of the following is the chief component of fungal cell wall ?

Al Mucopolysaccharide B) Cellulose

C) - D - glucopyranose D)  None of these.

22. Uereumueiarsupiies e sflurats Qurmhdlysieng

A)  inr@Ge mey - @lEsal Héetdaany
B)  Oy&Bmew - ClapdGordy ard ey
Q) GedspCaurd - Symolié anths uer sl [# st deeny

Dl @eme yeme by,
Which of the following is correctly matched ?

A) Maltose - Disaccharides
) Fructose - Hexose sugar
C)  Cellulose - Struclural polysaccharide

) All of these |

23. @Eubenaile Quptu@n SitliQest aafldle saraus

4a) oamGlemldla B) dfle

C) urgpegdle Dl g agafidme.
Natural lipids are readily soluble in

Al oil B) water

Cl] mercury D] none of these .

24, 2NADH; ppadefidlpha Quniu@n ATP pedsansdis acnaiaams
A3 : B) 4
C) 6 D) 12 .
The number of ATP molecules vielded from 2NADH, molecule is
Al 3 B) 4
Cl 6 D}y 12,

P I'?m_l [ Turn over
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25. dibssen_ aursdlutisaen s :

p_gy_gﬂ (A): enlrger aeitédl, auerttfleng wrdipb, wiy STAhS LHQD
BerGunssshle pedu Ut adlading.

e (R): eplyge wertset Gararpsae MUSHADD.

&6y @il Getren @flSlge afiwren e sowug CetbEsd :

A) (Ao (R) b 6. (R) g (A elbe eflurear allershe.

Bl (A)b (RD sl gemd R esug (A allhe sflurer alendaib Seve.
C)  (A)afl, gyemén (R) geugy.

D) (A) geugl, syere (R afl.

Caonsider the following statements :

Assertion (A) : Nitrogen plays an important role in growth, metabolism,
heredity and respiration.

Reason (R): 1t suppressed formation of flowers,
Now select your answer according to the coding scheme given below :
Al Both (Al and (R) are true and (R) is the correct explanation of (4)
B}  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
C) {A) 1s true, but (R) is false
D)  {A)is false, but (R} is true,
26, dpsean sursdlulisee sl :
2mdl (Al sselalls padann Ceudud sbubgliurL sl e gl
srarsdle sEmPlueHlde o sier Cladneamen B A w
gredGapg.
srpemd (R):  séelemang Qo Gaefla: gliey Fleves Bens Glelislng-
£8p L Peter @il g sflures aen_smug Cainlla® -
A) (A)b (R) i sf), (R ereiig (A) elpe sfluren sllenssib.
Bl (Alb (R b sl yere (R ssug (A) alipe sflurar allnési side.
C) (A ekl gerre (R) saum.
D] (A semn sera (R) s,

x[701]
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Consider the [ollowing statemenis !
Assertion (Al :  The primary physiological effects of auxin in plants is to
stimulate the ' elongation of cells in shoots ',
Reason (R) : Dormancy of buds can be broken by auxin lreatment.
Now select your answer according to the coding scheme given below :
A)  Both (A) and (R} are true and (R) is the correcl explanation of (A)
B) Both (A) and (R) are true, but (R] is not the correct explanation of (A)
] {A) s true, but (R} is false
D) (A} is false, but (R is true.

27. diphaeion @ irddukisenen Seusdl

28.

ol (A): ool B K sremiufn ppedan Gunmehmetidy He Lidams

srlisfadt, Ganwr aemGemi, séansfl nhpo Sev 2 sfiere.

sngeond (R): el Blen K wreng 2w Hehssefld gpuBn Card oflimu
pHEHDY.

A£G O Geren Gy sfure aloLoub Cafbos® !

A) (A) b (R) b 8f, guenés (R) erenug (A) «llh@ shlwmen ailenbmib.

Bl (A (R) b sfl, emré (R ssmiug (A) allpe shiuren eflendan s,

C) (A efl, syeinés (R) meug.

D) (Al seup, siemnd (Rlafl .

Consider the following statements :

Assertion (A) :  Green vegetables, soyabean oil, tomatoes etc, are chief sources
of Vitamin K.

Reason (R) : Vitamin K prevents eroston of the skin in higher animals.
Now select your answer according to the coding scheme given below :

A) Both (A} and (R) are true and (R} is the correct explanation of (A}

B) ' Both (A) and (R) are true, but (R is not the correct explanation of (4]
) {4) is true, but (R} is false

D) (Al is false, but (R)is true .

Baiugensl UTfleeiics susllinanLe eplygemer Floelufssn Cadse

A) gl B) GangGrrdlev
€l gllemGenrenCunitash D) urirsdlGaimey Guritast .
The cell responsible for fixing atmospheric nitrogen In blue green algae is
Al Akinetes B) Hetetocysis

C) Aplanospores ) Parthenospores .

2 [ Turn over




29.

30,

31.

32.

33.

12

Camupiud Qurplssid Bnba eerslardy Catbas aamig

Al dlenendmrenadlen Bl  1g.éle.

C) et Gurbigeffa D] suGurefli&aGase.
The synthesis of glucose from fat is called

A} Glycalysis B} T.CA.

C)  Gluconeogenesis D)  Saponification .
Q) aumsLiusauhBlé sg Clurmssh @éersg ?

A engulLflen A —  Qerguules seanywudsalg g

B) ealldlé 'C — il serussagug

0 el dler 'H —  ffld sayuksagug

D) el iflén ‘D — il serussaqug.

Which one of the following is not correctly matched ?

A)  Vitamin 'A' — Fat soluble

B] Vitamin 'C — Water soluble

Q) Vitamin 'B — Water soluble

D)  Vitamin 'D' — Water soluble

Ay A agodl siennbgsion )b _

A suspl ued Bl  @sugdler sumlugd
C) ol spiugd D) adppl usd
Pituitary gland is situated in

A)  the neck B) the base of the heart
C) the base of the brain D)  the abdomen .
@risbdide faly Posdlae g ClarPadlspg

A) afGuorgGenmisr B) &éudbler

C) srorglarysfier D) eounGurgCenri .
Red colour to the blood is given by

4)  haemoglobin B) albumin

C] gamma globulin D) myoglobin .
Quamegpsarar Urdlud gemrdlsuimst Beema . QUUESE0 LRFSTDE
A)  UGprGigeiig Gy B)  ereiug Syr&igoen

C) QLevGLmeusymen D) syaGLrsvengmen.
Sexual characters in female are controlled by

Al Progesterone B) Estrogen

C}]  Testosterone " D) Aldosterone .

x[701]
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35.

36.

37.

ra - PGERI
G seuydifiou garag §o CuiCprBrmBigus paamn (2) ghle s
o emi_W) el @elsugbel @uud
A)  sphespluamy sl Bl Jhseny
Q)  Banssmenth Gy D) @len i Loy seoly.

A cross between hybrid and either of any parent ( dominant or recessive) Is
called

A) Monohybrid cross Bl Back cross

C)  Tesl cross D)  Dihybrid cross .
mmeul eps @ so Lt et Flseorre Spaflerpri s

A} @em( apensemet i allba s fgee

Bl o @l e Ggenk allbgdaeh ameur @i

C) G smabn el @res® HerrenGLmbiugra Heraul Jips
SIrf 1 s LB 5 6

D) @eal plesmst @rar® allpgsad aGHUTHGSE.

Identical twins are produced when

A)  one sperm |s fertilized with two eggs

B) . one cgg is fertilized with two sperms .

C) one fertilized egg is divided into two blastomers and separated

D) two eggs are fertilized with Two sperms.

s tada @lrmGurGaresis aanaisme 47 & sneUU@n Gurg

(22A + XXY) @ps Grmi( Aen Gyri) ghLBEEDE.

Al  Esneney e Grmbd B dmerar Guéi iy feriGymid

Q)  Lienren Sl Gy D} el Geutl Sl Comb.

In human 47 number of chromosomes [ 22A + XXY) is resulted in

A) Down's syndrome B] Klinefelter's syndrome

€}  Turner's syndrome D) Edward's syndrome .

Gpbos Tppp 15 prs@ées abs CarlssOiy weba( Crubslidr) QarGaniu
Geum D 7

Al OGureiGur B) 10.e=(DPT)

C)  aheab.gt SO0 sehe D Efdd R OBHS.
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Which vaccine should be given (o the newborn within 15 days of birth ?
Al ‘0" Palio Bl DPT
C)  MMR vaccine D)  Measles vaccine .

ucigue I o ulgwéd e & Qurmgd, Gy Gar@astur. Gerar @OWIHsener s
Gameor® o flunen aflen_enug Eaihbls :

U gwes T uCigwes 11

a) A .B.O@rsp amsmer Lo miiu et orppsdlhe T &RTID
bl waflar s augpbeans 2. Qiecd ustny sey
A aflt oflanet Gorens Cprt 3. Ldssar: 0 2peldner
d)  serelléioms afld) 4. ure geErew Guardlhe garser
GURseT

a b c d
Al 4 a3 g2
B 8 4 1 g
C) 2 1 4 3

D) 1 2 3 4.

Match List I with List II correctly and select your answer using the codes given
below :

List 1 List IT

a)] A.,B.Oblood group 1.  Example for point mutation
b}  Bald head in man 2. Dihybrid cross
c) Sickle cell anaemia 3. Multiple alleles
d)  Independent assortment 4.  Sexinfluenced genes
Codes :

a b d
A) 4 3 1
B) 3 4 1 2
c 2 1 3
D) 1 2 3 4
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39. gpssammL eursdlutmenen &eued)

i) ADH ereimuigl-si Genn engpiGur anudledlen @mba addlETnE.

)  ADH edrug Glewansymsdldinbg aredems.

iy ADH seug fluCrmeantCurauflels Goha s7éddampg.

v)  ADH edug deflus spudide @epe arsdleamns
&R BT Reiien @Plfiigd sflure W eoug Captitie@ :
A) (# ohHoun (i) & Mureraneu B] (i) wl@b sflurearg
C) (i) wl@d sPurengy D) (), () whpid (il sfwrearane.
Conslder the following statements
i) ADI1 1s secreted by adenchypophysis
i) ADH ls secreted by mfundibulom
i)  ADH is secreted by neurohypophysis
ivl  ADII is secreted by pineal gland
of the statements :
M) (i} and {if) are correct B) (i) alone Is correct

2 fifi) alone is correct D) (i), (ii) and (iii} are correct .

40. dipsmeo aurddlutimens seuedl :
ol (A elpgeCese sipen soda i 268y Genblenen
Gl e Bsiten gy
arpawd (R): CsangflGurarery albgéteads aanaflsmals wpadu il
sudladlanmg |

#Gy GOl Rerer gl wé sflurer afenews CatpGs@ :

A} (Aluppd R Grendld gag

B)  (Alafl qyaré (R) geumy

C)  (Alobmbd (R) Gren@io #f Coayd (R) sfiurer argamorgd

D}  (Alopplk R Guean®d sfl suemd (R) sflurer argembiéeme,
Consider the following statements ;

Assertion (A) : The sperm contains centriole in the neck.

Reason (R) : Centrioles are important for sperm count.

Now select your answer according to the coding scheme given below :
A) Both (4] and (R} are false

B] (A} s true, but (R) is false

C) Both (A) and (R} are true and (R) is the correct reason

) Both {A) and (R) are true;but () is not the correct reason .
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Gpdurede silamGast splaive s s moud SrbilssCusen Gaemré
Gamb -
Al Gaomifl J. wrir B) V.smgrumb

C) C.V. Gynos D) 8.8 ulenret .
Credit for starting Space Sctence Research in India goes 1o

A)  HomitJ. Bhaba B) V. Sarabhal

C) C.V. Raman D) S.S. Bhatnagar .

42. dpsaan eunbfubsea s

apd (A @bPurals Spbs siGuwfse Sgperel) mdueanr sreiar  Lwerb
Gals NanGaed gymisdasmd, yellfar srpp W eybfld
mephs Gy afibgelog:
amyemi (R) : oflatnGieust) %ﬁnm&ﬂﬁ&wﬁ@:&l cpdebigyeiren timmein e
e Beill L g.
#8p @il Geter Gl g sflurar e aug Cathbad
A (A) wppid  (R) & flwmerensuwdie
B) (A) eflwreng. [R)aflumengds
C) (A bppbd (R sfuraena wigid (R) sfluran afletébaorgh
D) (A) wppic (R sflurerency, gueime (R) aflwrer silemdimn e,
Consider the following statements :
Assertion (A): The space shuttic in 'which Kalpana Chawla, the Indian bom
American Scientist travelled, when reentered into the Earth
Atmosphere was burnt,
Reason (R} : The space shuttle had the nose cap (made of ceramics)
damaged.
Now select the correct answer according to the coding scheme given below :
A) (A) and (R} are not correct
B)  [(A)is correct, but {R)is not correct
C) (Al and (R} axe uurfect. and (R} is the correct explanation
D) (A)and (R)are correct, but (R) is not the correct explanation.
fpseamupps g efiude
QUL Grrey &1 JEEADTEE ARLUSTS '
A)  s@eflu Gearash fézordpg
B} applup &p& Subu@fing
Q) stesa o berfiyss 2 gafing
D) selu sog HLELLERREIDE.
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Which of the [ollowing is not correct ?
Mixing of alcohol with petrol
A) saves foreign exchange
B] iz ecofriendly
)  supporls sugar industry
)  prevents the possibility of adulteration.
Spdaatn_auppst ehp BTG yGrefun Qaflaudsasd Gertuslug ?

A) By, B @evGre

C)  wyme D Ggeénlemfur.
Uranium enrichment is concerned-with

A)  Cuba B)  Israel

C) [ran D)  South Korea,
LboGETD editiy Gewdhdndr 2w STairb

A) damn B)  Quml g elldmib
C) Casg D)  pohs.

The plant which possesses ‘anticancerous aclivity is

A)  Seetha B) Polyalthia

) Teak D) Murungat.
‘et 2 pusdifie LuaTuRHSIUED St ' gy SuAT

A)  srftamevd B #yedatadfiur
C)  eufiGemflun D}  smestur.

The marine algae commercially exploited for the production of ‘agar’ 1s

A) Sargassum B) Gracilaria
. C) Laminaria D) Caulerpa.
EpSuralé el & psawsde senplyssiu’ @ shlalsaiule e b
Al 1932 B) 1986
C) 1980 D) 1992,
In India AIDS was first reported in
Al 1932 Bj 1986
C) 1980 D) 1992
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48, o ulifluey  Blyeert ser Gablurg o Qe GO S-mear @bs mrerrs
Cleras_nGdlament . i

Al 2 e fif pren B) o8 sppé G jpes el

Cl sem sarsry dlpyee mT el D) 2 e whsd Carans MmiTstr,
Bivlogists celebrate every year 5th June as

A} World Water Day B)  World Environment Day
C)  W.H.O. Day D) World Population Day.

49, dereumbd UL tinslls ag wrenes&elt, prissed, oo atis st & Flusupenné @Ol Apg 7
B} CQ@
’ @

Which of the following diagrams correctly represents elephants, dogs and

animals?

A)

C)

S ©

A)
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52,

53.

= b8 PGKI
a=bX,b=cl, c=a”eeflés ayz & wdiy eeher »
Al 1 Bl 0
-1 D) Gieeu essybldime.
fa=bX, b=cY c=aZ thenayzis equal to
A) 1 Bl 4]
cl -1 D)  None ol these.
sHGUrE sTodl @ (Blmyeuen & Flein &l Plurl® siflard
A)  fldld Qeueirent
Bl @bl el cudllicn grenem oy @mn
C)  Qurgsaruli® apepde saveseut
D) mautg.g alleér geveveut.
The Controller of Insurance Is at present
A} Finance Secretary Bl Deputy Governor, RBI
C)  Chairman, GIC D)  Chairman, [RDA.

BHEUrE Brigeér Crgs o husddisr sierals oy whod wrifle sy
Qeaalartinefle ssaldpn asmmey 7

A) 5% B) 17%
C) 24% D) 3086

Al present the expenditure on Government (both Central and State) as a
percentage of GDP is

Al 5% Bl  17%
C] 249, D} 30%,
@bl adicy Sper Glues dply alldlpn (2001 - b suw® Lerel) afleuglitig ) et

2 eiteng ?

A) 935 E] 929
C) 933 D) 930
The sex ratio of India as per 2001 Census was

A) 935 B] 929
C] 933 D) 930.
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56.
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Eppeosiis oy allflsb @opars o siel ke erg

A sdiper® B) Lﬁé]lj‘ﬂd'lg’-’ﬁﬁ;&ﬁ
C) Gagenr N wadfludiyGssid.
The state which has the lowest record of Infant Mortality Rale is
A) Tamil Nadu B) Ultar Pracdesh
) Kerala D) Madhya Pradesh .
,,,,,,,,,,, eremLIRUt @1He #ww Heneueurt
A aGnarenthsih B)  sugrallgyt
C)  curdndg D) LT,

__was Hindu religious leader.
A) Vivekananda B} Varahamitra
C) Valmiki ) Tarabal
stteuBps off syem@ ag
A) 2001 B) 2003
) 2004 | D) 2008,
Which is the International Year of Rice ?
Al 2001 B) 2003
C) 2004 D) 2005.
@hal Lbgifiaaedler Blgeuent
A} aen. slllyoerilu g B) ssugmilghs puiisTt
C) wev. sgdu pisdl D g Ganmpae.
The founder of the Newspaper , The Hindu was
Al 5. Subramania lyer E) Kasturl Ranga lyengar
C} 5. Satyaunurty D) T. K. Madhavan.

gCrmiilu spsssle o arer Sesrsupb prEselld ez WEym UamEETET (penmen
ghné Bsrerercildssnen 1

A)  Slyrers B @rdfersg(U.E]

C) Ggtwef D}  suGuuer.

Which of the following countries of the European Union has not adopted the
single currency Euro ?

Al France B) LLK.

C)] Germany Nl Spain.

x[z01]
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60.

61.

62.

21 PGKI

" Big Egos, Small Men " a&ip USsssens stapelueut w2

A} modlbwyrel Bl g Cgéwearafl
C)  Ganell @aryig Dl woedn. Goadn .
Who has written the book ~ Big Egos, Small Men " ?

A) Narasimha Rao Bj Ram Jethmalani
C)  Soli Sorabjee D) T.N. Seshan .

93 - aug eifueismoliy Fmgat allsur£0ug

A) Lut.i_,,stﬂlﬂ el G Sy

B)  s0pHsliuli et s ehhen e gl g encmanuib

C)  @phengehho e s mudsdel

D) e wiadaililid G ﬁ.ﬂ&ﬂf@ g

93 rd Constitutional Amendment deals with

Al size of the ministry

B) separate commission for SC

C)  compulsory education for the children

D)  reservation in higher education .

WTO sép @nssedipe Jeaguamauiple o sfuter allfleumden 2

Al e g Hloeein Bl o ms cut&ss hlipeverid

C) ees GuImiuraTew Blnsuent D) eas Curs@ardy e,
What is the correct expansion of the abbreviation of WTO 7

A)  World Textile Organisation B) World Trade Organisation

€] World Trusteeship Organisation D)  World Transport Organisation.
shis erasddr Burg uadly FporessT aETLG

1 erGeauflulgers

i)  wgEy

iii) ef&aGLH

iv)”  surLurD,

v)  sidl
Al (@), ).opp (v Bl (1. (t).opgib (i)
C) (i) ophpd (v) D) (W) wlED .
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The important parts during the Sangam Age were 7
i) Kaveripattinam
ii) Madurai

iii}  Arikamedu

ivi Kapatapuram

v) Musiri
of these
Al ([1).(11) and (iv) B)  [iL(W) and (i)
C)  (1).011) and [v) "D} (i) only .

shCurepu whammalld Quris e nldlatasiia aanamisaoe
A) 545 g gy uSlentraeh B] 5552 gudlentee
C) 565 o piulenteen Dl 575 o puuflentamel
Al present the maximum strength of Lok Sabha is

A} 545 members B] 555 members
C) 565 members D} 575 members .

weflg o flowseh fab sasflssiu@amn

A)  glgé 10 b Csdl B] grer 100 Gpdl

C) G@elbut 100 Cadl D) webut 100 Gadl .
Human Rights Day is observed on

A} April 10th B) June 10th

C)  September 10th D) December 10th

FCp eciier aps GlLsdle waD s dsd shmLTEGD 2

A)  Gsstremen B] @EorGssiani
C)  seredllm@LT] D) snsgémg .

In which of the following places three oceans merge together ?
A) Chennai Bl Rameshwaram
C) * Kannivakumari D)  Tullcorin .

x 701
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e I s ulgque Do e Qurepsdl, #8p Garhasiuc Gerer GlliiHaamans
Qere® sflurer el ows CaipOs@ :

uCigue I Ut qwes TI

a)  unrd senns e sngenhisst Gprifibsrena 1) &eumd sl
bl @Egragye e pmiddl enwwb 2) Clukig et
¢ @bl arar@aell gurmisd Henenwid 3) £imsd
d  sgmesd 4) SHQMGIITLIMT
@S Hest

a b c d
A) 4 3 1 2
B) 3 4 1 2
c) 2 3 4 1
D 3 4 2 L.

Match List I with List II correctly and select your answer using the codes given
below :

List I List IT

a) Bharat Heavy Electricals 1. Kalpakkam
b) Defence Research Laboratory 2, Bangalore
c) Indian Space Research Organisation 3. Trichy
d) Atmeic Power Plant 4, Hyderabad.
Codes :

a b [ d
A 4 3 1 2
B) 3 4 1 2
C) 2 3 4 1
D) 3 4 2 1.
spsatLapper og ergasenlé Bdome 7
Al @rerwer Gigmfiberene Bl =g8 G'Igrrrhﬁ]ﬁjarrmm
C)  sigmbdler Beewin D) swweliar Hlomewub.
Which of the following is not situated in Tuticorin ?
A) Chemical industry B)  Fertilizer industry
C)  Nuclear power station D)  Thermal power station.
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CrbGausiiy.dr @arLfufing sar

Al Hessf Bl Messrine
C)  wuply plasaf D)  yfluwr.
Which of the following is not related to Neyveli ?

A Coal B)  Electricity
C)  Lignite Dl  Urea:

ulgqwéd I g ulgue Mo Ca GurEsd, £Gp GlarHhsuulGerer @oNuiEHssmers
Qeneaa® sfurar allan g Cath@am :

uigwe I uig e I1

a) eumenyp or i 1. &y Gamoubars,
b) &G oy 2. g eme Gaeaneudimns
c) Gmb, Wil 3. ehQurmear Spanaubam s
d)  Gplgeids wmnh 4. slgL Gpeeidkens
@PliBa ;

a b c d
A) 3 1 2 4
B 4 3 9 1
C 2 3 - 1

D) 1 2 3 y
Match List I with List IT correctly and select vour answer using the codes gliven
below :

List I List 1T
aj Banana tree 1.  Ormamental purpose
bj Acacia tree 2. Festival purpose
¢l Teak tree 3. Tuel parpose
d} Polyalthia tree 4. “Iimber purpose,

Codes :

A) 3 1 2

B} 4 3 g I
Cl 2 3 + 1
D) 1 2 3 q.

x|701]
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sflpETCgé nEhesi HTOT@ G ddsmssg uvrpbuflu wapde
LLESTLIRES SR DhES Biey STeuTD )

) Wit (67D Bl =&

C) Geuby D) dprilpasl.

Traditional medicinal plant used for the treatment ol 'Jaundice' in Tamil Nadu
is

A)  Mango B] Arasu

C) Vembu D) Keelanalli.

Ledmrenw sfljp Gemeniemu shdlfmbs 2o flaslle ahpoome afleursefhl e i
L gl mysT 8 el OuC L g ?

Ay dsb B) yed

C) @il D) pgena.

What were the animals found in the most of the anclent forts for protection ?
A l.ion B) Tiger

C) Horse D) Crocodile.

miblposdle ahg prau L SEI6 HIHBL. WHHENL LdsmesapaD sysonhgeieng
A) (&I B) GamwblhgTt

0 BlmEd D} Gadnenan.

Where is the Veterinary University in Tamil Nadu located 7

A Madural B) Coimbatore

C)  Trichy D) Chennal,

uisSiegerin FLb ... wireu L S8l o erenal.

A)  Gudlwrr Bl  Gamubysgmt

C) esm'ig D) &m.

Parambikulam project is located In ......... district .

A) Periyar : Bl Coimbatore

) Qoty D) Karur.

GTEEAGI .. ... &5 Urdsd CLpps

A)  duills 2 7H Ggrfibsres B) EphY soug 6me

C  spbelub Qgmfipsres D) @uidrs smel simase .
Tuticorin is famous for

Al Spic Fertilizer Industry B) Iron and Steel Industry

C)  Aluminium Indusiry D)  Machine Tool industry.
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76, Garge Spmeyames sllays fHluerd Calgpg b aderfiliushars
Al sflpssdla grils sl '
B)  Garubydart e Bliaug iy
) pilfpnsde sdpgmeld gpflonoy JITELEHE
D) @en agaflaema.
Gokula Krishnan Commission was appointed to probe into
A)  caste clashes in Tamil Nadu
H) coimbatore blast
) study the Dalit's situation in Tamil Nadu
D) none of these.
76. unps pher almeng Gubo (p@e sblpe eppeend i
A)  C.N. syetoreoomgeni] B) M.G.grwbshdlye
) C.greg@asnurerdantl Dl usgausseub.
The first Tamil Nadu Chief Minister to be awarded Bharat Ratna Is

A)  C.N. Annadural B) M.G. Ramachandran
C) C. Rajagopalachari D} Baktavatchalam.
77.  sbpEmiigen @usTgr HILLb . nTeul L sdlé a_shens.
Al Boed B) (Guflwrf
C)  fedf D) ssraflurgofl.
The Pykara Scheme of Tamil Nadu is in .......... district.
A)  Salem B) Periyar
C)  Nilgiri D) Kannivakumari.

78. aig sbp Coflueund ureurrd! aanp Gesdlu sgslasamu Glausfilo L.

Al smhmoediiu urgd B slroewiu Seur

¢y ale d D) eflalesn. mut.

Which Tamil nationalist published a literary ma.tgazine called "Bala Bharathi" ?
A]' Subramanya Bharati B) Subramanya Siva

(v [ 61 - H 7 D] V.V.S.lyer.

® L'?_ﬂl|
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vigue I o ulguée IT= e CurmsEl, af{ﬁg: Eler R &m’in (Refrer @{iﬁ]ﬁ@mmam.ﬁﬁ
Qunen(@ sflurer allaeowd Cetilla® : i

Ul igwes I uigwe 11
a)  ulgelurEsD 1.  srene Gmy senl

sl o

L

b) (e T LIT&HID

) it T hagh Ty 3. wrene CQpy S
d)  eeeuhismg 4,  sLpseird Ugdl
@HuS e :
a b c d
AN 2 3 | 4
B 2 4 1 3
¢} 3 1 2 4
D) 4 3 2 1.

Match List I with List II correctly and select your answer using the codes given
below

List I ' List 11
al]  Pattinapakkam 1. The moming bazar

b Maruvurpakkam 2. The residential area
¢) - Nalangadi 3. The evening bazar
d) Allangadi 4. Coastal area with its harbour,
Codes 1
a b ¢ d
A) 2 3 1 B
B 2 4 1 3
3 1 2 4
D} 4 3 2 k.
ApQmeGeusl reu L &Gt o uryrd LHCETE GElululLrt 7
A ail.all ereiy, gt B] aurgél st
C) e faflaurs smevgif D) eau. Saflours mubsmt.
Who assassinaled Ashe, the District Collector of Tirunelvell ?
Al VV.S lyer B) Vanchi lyer
)  V.S. Srinivasa Sasiry | D} 5. Srinlvasa lyengar.
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@)\ et emeoilei aiiLEd) Hpse Cupsns sidls Lyama Glaramfeams 7
A) @y Gounsme B)  sysueumDd @mmmmm
C)  wugpenl Gounans D) Gpursi @uouwnens.
Which part of the Himalayas has the maximum stretch from east to west
Al Kumaun Himalayas B)  Assam Himalayas

C) Punjab Himalayas ) Nepal Himalayas.

B2, dipémetori cull Efluhsenen seuadl :

e gl (A): Wi SyuE iy Gmsnmeilds wese @aves 08¢ @l SEwHlnsl.
syemd (R : Sifle wepo Gumlay, @leme ehdoma sibué Cudgb srye .
Gy @GP Gerer @l g e ailuren el coud Cathoz® :

A) (A)wpgin (R)efl, (R) ereugl (A) ol aflurs allerdsomgn.

B) (A) wpguio (R) &l (R} @enug (Al pe sflurer aflersabideme.

C) (A) efl guemmés (R} seug.

D) (Algaup syene (R) el

Conslider the following statements :

Assertion (A} : Solls in humid tropical regions lack humus,

Reason (R} : Heavy precipitation causes leaching of humus.

Now select your answer from the cading scheme given below :

Al Both (4) and (R) are true and (R} Is the correct explanation of (A}

B Both (A} and (R) are true, but (R} is not the correct explanation of (A)
C)  {A)is true, but (R is [alse

D) (A} is false, but [R}is true.

srurralpsic , alipdlu vaanseh @Gy gL D T8 ?

A)  Gsnameuf B &auls

c  pudl ‘ D) pRwaT.

Which of the following river flows between the Satpuras and the Vindhyas ?
A)  Godavarl B] Gandak

C) Taptl D] Narmada




B4,

85.

87.

Quitweagh Curatgided e Gu

Al aledm st Gar(

C) gurest. GErd

Bl
)

2 wirer eravenandEETH

wrfpm Car@

L Teug Gemamor Gair(.

The boundary between Germany and Poland is called

A} Hindeberg Line
C) Durand Line

SUEDETUTS B ysohmerer ndl ...,

Al aurng
C)  euGerEdl

Ahmedabad town is located on the rver

A} Sabarmall

C)  Gangotri

'NIFE' erénp Lis @il
Al el odlisd

C)  uedilier Culer®
The term 'NIFE' refers Lo
A) Earthquakes

C) Crust of the earth
@bl s peenyde Hemin
A)  7516.6 £l

C] 7000 £

The length of India’s coast line is about

A) 7516.6 km

. ©) 7000 km

GEGHOLCL SRS espnd o 1

Bj
D)

B)
D)

B)
D)

B)
D)

B)
D)

B}
D}

B}
D)

A)  Goidsquslsa gaésiuL sTEGM

Maginot Line
17t parallel,

Wi hEl
airGaufl.

Mahanadi

Kaver,

vl o et oyemoliy

i Hien .

Core of the earth

Ocean floor.

7500.5 4.
6100 £ 45.

7500.5 km
610G km .

Bl Gar e ur@auspBas gasalu’l sr@se

FGEI

C) Guoidsoe algss anafu furs 2 uCuiflés QE&slLLL sTHeS

D)  wewanp wheafler UETLTLGHOeT HEEAUULL STHSST,

«[701]
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What is meant by ‘reserved forest' ?
Al Aforest reserved exclusively for grazing
B) A forest reserved for hunting
C)  Aforest reserved for commercial exploitation with restrictions on grazing
D) - A forest reserved for the use of tribal people.
89.  Lnénildla g v did wrileisamen gpaflamsdd s@vbsab (2001) :
1) giflygm 2] o pdlgresec
3)  Hadlo 4  @orgevsmer,
@ SHee :
A) 3 2 4 1
B 1 3 2 4
c) 2 1 3 4
- D) 3 1 2 4.
Arrange the states in ascending order In terms of sex ratio (2001} :
1) Tripura 2) Uttaranchal
3)  Sikkim 4)  Rajasthan.
Codes :
Al 3 2 4 1
Bj 1 2 4
c] 2 1 3 4
D) 3 1 2 4.
90. upidlenar gl uras Ceran( Carféstury wrflebsae @ohe auflasde
Syenind s el
1) sypdlrdyCgsn
2 ez
3)  damt
4)  sverd.
@PTheet
Al 1 3 -
B) 2 1 4
6 2 4 1 3
17 1 3 4.
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Arrange the following states in descending order on the basis of area :

1)  Andhra Pradesh
2)  Gujarat

3) Bihar

4) Assam.

Codes :

A 1 2 3 4 ’
Bl 2 a 1 4

Q 2 4 1 3

D 1 3 2 4,

91, ulywd I g ulgue Moo QurEsdl, £C8p Qar@asiiu Gerer @illiRnamems
Qeran® sfluren alleaLswug CartGg® :

uligwé I uLigweé TI

a) et 1) are flee wensiur®
b)  artensGanii 2) sfllyésseni
c) @uﬂﬁqéj{ﬁm 3) yalldlen CamhHpl
d) AT 4) eleuemw susnsliLm
@:ﬂﬁ@ﬁsﬂ t

a b e d
A 3 1 4 2
B 1 2 3 4
C) 2 3 4 1
D) - 1 2 3.
Match List I with List II chrreeﬂ:.r and select your answer using the codes given
below :

List I List II

a) Kant 1), climatic classification
b)]  Thornthwaite 2) cycle of erosion
c) Whittlesey 3) origin of the earth
d) Penck 4] agricultural typology.
Codes

a b c d
Al 3 1 4 2
B) 1 2 3 4
c) 2 3 4 1
D) 4 1 2 3
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92. dpsaauL arbdubsee s
o pdl (A): Cplew wppd erdeldl Glenea @}Uﬂh@&rﬁmﬂﬂ wenevles
emendlps.

smyeend (R): @lo ulilteet clamergguaei glralporer sryadiast
Cazaaliuhdips .

8 ePu Gerer @fifigd sfiurear oL mus Catb@sd :
A) (A) whgyb  (R) &,
B) (A wpps R efl. (R adwg (A)alhe sflurar aflerésbldamen.
O (A ef suemé (R) soup.
o) (A) gougy pyermén (R) &l
Consider the following statements :
Assertion (A) : Tea and coffee are both grown in the Nilgiri hills.
Rea.-mn R): Both crops need similar condition for growth.
Now select your answer according to the coding scheme given below :
A) {A) and (R} are True. I
B)  Both (A) and (R are true, but (R} is not the correct explanation of (A)
C)  {A)is true, but (R} is false
D) (A} is false, but (R) is true.

93. aps Caflu OpR&sTon sysTTE@aLD Whausmwyb Foamsding.

A) NH 1 B) NH7
C) NH3 D) NHS5,
Which National Highway connects Agra and Mumbal ?
A} NH 1 B]  NH7
C) NH 3 D} HNHS5,

94. sitauBse Ll GareamLmiu@o prst
Al =sGurut 8 B) Glelbut 8
C) syseul 8 D} gsbut 8,
International Literacy Day is celebrated on
A)  October 8 B} Secptember 8
C) Augusis D) December 8.
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EbSurailes Blslupansure e Gleoni AL Y

Al gy W B) daurh
C)  uneet D) Qmmaslen.
The oldest oil refinery of India is

A)  Haldia B) Digboi

C) Barauni D) Cochin,

Qe remeanies en_Lé uthsens o manddustsner g Gareyb whpib

A BTENERITL. B) &&ub

Q) Gumeurleh D) .S .
Tidal Park in Chennal was formed by TIDCO anl

A) Elcot B) Sathyam
C)  Polaris D) TCS.
Bl wirau b wgiey wreul L dlelmha Sifle eugsL b
Al 1996 B) 1997

C) 1994 D) 1989.
Theni district was bifurcated from Madural on

A 1996 B) 1997

C) 1998 D) 1999.

uCgwé I ulgué Ma L& QuTGEE, F8p GETEAKLLL FsTer Pl Heemen s

Qares® efuren elloLamus Cathtls®

uligues I uCgué I
FiF ETTRIHD oreus b
a) GoLharhusc 1)  sesemaut
h) sen&aETH 2) fedlfl
¢ weetEd 3 ApnaGeudd
d) aulbey 4)  er&eyTD
OB :
a b d
A 4 2 3 1
Bl 4 L 2
C) 2 1 B
D) 3 e 1

x [701]
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Malch List I with List II correctly and select your answer using the codes given

below :
List I List IT
Sanctuaries Districts
a) Vedanthangal 1) Tanjore
b) Kalakadu 2) Nilgin
) Mukurthi 3)  Tirunelvell
d) Vadur 4] Kancheepuram
Codes :
a b c d
Al 4 2 5] 1
B) 4 3 | 2
) 2 3 1 4
P 3 2 1 4
99. gllpmrigd oyl orad L b @ehe GuutGuhng.
Al dlgremeny B) @eurtleu
Cl sdmemmbusss D) @by gTE-
Dharmapuri district Is known for ......... in Tamil Nadu .
A)  Granite B) Quariz
C)  Limestone D)  Iron ore.

100, sb\prm g G Ghdu g saburi@ eslufeug eg

Al Geeud _ Bl saérafumguof
C)  Felpatael D) grisEEs.
Which is the South Indian Oxford of Tamil Nadu ?
A) Salem B) Kanniyakumari
C)  Trunelveli D) Tuticorin.
101, Gassr qenn wrmré SfleeeUuBaatiul LS ?
Al umseues B obus
) Sambea D) snade dég.
The igladari system was introduced by
A) Balban B) Albek
) litutmish 0} Alaaddin Khiljl.
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Siéreumeusmsubniet arg eflurs Qurphsaideae 7

Al mieE E&hareab —  meman Glarifliberene
B) umpu shETeuld —  Fiflyd curpians
Cl] ydlu shameid —  fHypsr wrpsome
D) Glainlban b —  zooey zpusdl flave.

Which of the following is wrongly maiched ?

A)  Mesolithic period —  Microlithic industry
B)  Paleolithic p.nrh‘;ti —  Wandering life

C)  Neolithic period —  Secttled life

D)  Chalcolithic period —  Food praducing stage,

eneumeuameupper ag svem sousdla ‘wpan @nadlansalln” wsiortidlug
(mievemen ?

Al Hleombs syley B) glurernd

C) wmpLrwe D)  alfzaoe .

Which one of the following does nol belong (o the ‘Three Ratnas' of Jainism 7
A) Full Knowledge Bl  Meditation

C] Good action D)  Liberation,
Sleareugpueutaefias wit apein) e’ L Guens wipr(Resile sabsy Gereo_sut 7
A) 0 sy, sibGUESTH

B)  eib. &b wrenefwr.

C) b Gs. sinksl

D) &l sreny, Faiflleuns srevdhf] |

Who of the [ollowing attended all the three Round Table Conferences ?
Al B.R. Ambedkar Bl M.M. Malaviya

C) M.E. Gandhi 1B V.5. Srinivasa Sastri.
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105, siphar gellutiss abs sassam alaréssdpg 2

106.

107.

A) @) momuGsin B) uwasTurTsh

C)  ughempding D) @resT sageen .
Which stories were explained in Ajanta Paintings 7

A)  Ramayana B) Mahabharata

C) Pancha Tantram D) Jataka stories,

@pduralipe mGrminiutsefid ampansau sflurm papdd aflmeiuGssan
Al Curramdflut, L ssdangt, guadlGeurt, (N0 esedeiryi

B)  césdengt, syidlGeut, Guirtéaddut, 0 e asamyt

C)  gyhdlGeowit, Lésdangt, NQreasaryt, Curtéaddut

D) OQesadenyt, Gurtéadilut, sindlGawt, Lésdargt .

Identiy the correct order in which Europeans came to India.

A) Portuguese, Dutch, English, French

B)  Dutch, English, Portuguese, French

C)  English, Duteh, French, Partuguese

) French, Portuguese, English, Dulch,

ulgue I @ ulgud Dz odr Qurmpd. 8y QarBestiul @erer @hlSRamens
QErasn® aflursr aflen sowd Caibbla® :

uCigué I ulgue II
(ivammumartaeflar Len Loy) (ClarL e wg)

a) ergsroyesnrtliéar 1) @espumet
b) | eumgargiliy ST 2} Qanréad
¢l  &&sand allyst 3) ‘Heésbh
d) esmps alysr 4) yeersLbg Glob QurEetlud
@Pip=st

a b C d
A 2 ] 3 4
B 3 4 2 !
) 3 1 4 2
D) 4 3 2 1.
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Match List I with List II correctly and select your answer using the codes given
below ;

List I List I

Works of Mahayana Dealing With
#) Sadharmapundarika 1)  divine grace
b) Vajrachedika 2]  heaven
c) Sukhavat vyuha 3] conduct
d)  HKaranda vyuha 4] metaphysics
Caodes :

a b c
A 2 1 3 4
B 3 4 2 1
cC 3 1 4 2
) 4 3 2 1

Epsmain eunddluisaer seued]

giewfly (A): ypgewowd siwr Cariurtac ghnk Garsraralsane.
sirgesond (R) : upgewwud Hirhey sismoranc ghns Glsretsralsme,
#Cp Nl @eter @iiilge sflurer el oup CaipGiEE :

Al (A) wppid (R) sl (R) eeiug (A)efhg sflurer allendsin

Bl (A whnit (R sfl. R edus A)Sbe sflurer aleréalidamen

Cl (A) af] oyermey (R) Seugy.

D) (Al geouny sy (R afl.

Consider the following statements :

Assertion {A) : Buddhism does nol accept the theory of Karma.
Reasaori (R} : It does not accept the existence of permanent self,
Now select your answer according to the coding scheme given below :
A) Both {A) and (R) are true and (R) is the correct explanation of (A)
Bl Both {A)and (R) are true, but (R) is not the correct explanation of (A)
C)  (A}ls true, but (R} is false

D) (A} is false, but (R} is true.
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gweurburear sflédlysens aapSlusnt

Al Ceugprusid Oleienen Bl  al&f

C) greb pbwt D} Fleusdsill.
Kamalambal Charlitram was written by

A)  Vedanayakam Pilla B) Lakshmi

C) Rajam lyer D]  Sivashankari.
el |G eneenil g et

A GerésmiSu Bl sdlet

C)  Genulsragssh D) dasene snigemmt .
Manimekalal was written by

A)  Tolkapplyar B)  Kahilar

€)  Elangoadigal D)  Sittalal Sattanar,
@ mi @Cenphgitis Campefisr wpGpmEH Cluwt

A) shos Genaa Campen B] adeb gailtss Camper
C)  dlmbl segor Gompen D) qpibopg Qareb. Gamper,

Kulothunga Il was also called

A)  Gangaikonda Chola B) Sungam Thavirtha Chola
) Erimikanta Chola D) Mummudi konda Chola.
Semeumeuemeuple: arasmen’ ubfl GusuCLrblu prefan sfitdlnpsaaidene 1
Al Gurer wppin Cleustafl Bl Qsiy

€  Geucmsob Dl @by

Which one of the following is not known Lo Mesopotamian civilization 7
A)  Gold and Sliver B) Copper

C) Bronze D) Ironm.

flhg swbleuet] miafasdlen vl sadrael

A) FMbUG LSS

Bl sy suednesid U fu oy wl sadse

C) s @ LeTUENULITET S(HLY WL seusTseT

D) sl - ey Hip ol aedErse.
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The pottlery of Indus Valley Civilization is )
A Grey ware B) Black on red ware
C) Northern black polished ware D) Black and red ware,
114, pessllgre surpgeng Carppeliggeart urt 2
A CaGangly prp B) el spdlym gmi
C) G spdlynCesn D) Jledl. ngeosrt |
Who was the founder of Navavidhan Samaj ?
A) Devendra Nath B]  Navin Chandra Rai
C) Keshav Chandra Sen D) P.C. Majumdar .
115. gpgev Sy peurgminddlilen Guisgent wrt 2
A (eeneurt, pmélead Bl  sQledevreoit serelliigmirib
C) SQurmasn D) wrtagd .
Who was the first Director of Archacology ?
A) Dr. Hultz B)  Alexander Cunningham
C) Fergusson 2] Marshall .
116. @idlureléd @mibeanu wasiwpsars sflopeiu@ddluatse
Al gy flufrae B] gyralifser
C) urpfatme D) =&Quflurser .
Iren was first introduced in India by
Al Aryans Bl Dravidians
C) Persians D) Sumerians.
117. 9 weiy unpmgswapsdipe Cafp@sfssliul apad @hHut wrt
A)  grerurh QrerCrmgl B) AL syt mren
Cl  Lifefny.#. urem gl D) sgeaantars Gues .
Who was the first Indian, elected for the British Parllament ?
A) Dadabhai Naoroji Bl C.E.Das
C] W.C. Bonnerjee D)  Jawaharlal Nehru.
' 118. fpg sudeudt prafsd afid fAplusssean 2 @ LETS STEITULL LG 7
A mag SilobiBed Bl &g sow
C) emsellenan Dl @e S@andgib .
x|[701] | Turn over
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The Indus Valley Civilization was specialised in

A} town planning B) architecture
€]  craftsmanship p)  all of these.
119, e swlesst whash S @ersanuL ehs Glalapad cuenetiudilarit e 1
A Gypdlyen B]  sumconed
C) e D) @ee agepbldame.
Which God was worshipped by the Indus Valley people ?
A) Indra B] Varuna
C) Vishnu Di None of them.

120. Sipgy swieued) whnel ah Quinener Emégodl Galprtaet 3

Al Gurgem Bl upygeid

0 Geusiel D] dlevs .

The Indiis Valley people imported from abroad

Al wheat B) wine

C) silver 2] sill.
121, oo ErEILIG Bl B0CIEuE phscleE upsdlu o aoey

A syhldl B Gsrgew

C) Ganemd D) a&by.

.......... was the primary food of the Indus Valley people.

A) Rice Bl Wheat
€) Comn D) Millets.
122, Leie_sere bEHSSHDE vl o5 Couphdle sapiucQeras ?
A)  Mé& Geugld B) eamoCeagld
0) uwget Geush D) . esieuee Geuslh
The earliest mention of medicine occurs in which of the following Vedas ?
A}  Rigveda B) Samveda
C) Yajurveda D) Atharvaveda.

123. syélywhsst IS anpbosdid HTES Blaness ThHe BT HLLHEIG BOIG
suetrafluen_pasl 1
Al CeoupheehdE bl sreud B fa Gous arwd

c)  Ohflu Gaup Hred D) @eupnis apafidme .
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Ashrams or four stages of life came to be well established during which period ?
A) Pre - Vedic period Bl Rigvedic period
C) Later - Vedic period D1 None of these.
fé Couspdld saneu sy hdlysierg 7
A)  urephssier GemEiy
B) smgsa nhpo Glapaseia Qpme@iy
C) weBeuy i Haeflen eufleswrean Gligraiy
D)  whdghset whpbh sdigsetid Slgrsiy .
What does the Rigveda contain ?
A)  Collection of prayers
B}  Collection of storles and events
C) Collection of a chronological sequence of dynasles
D)  Collection of magic rituals.
b abs Hanuriy adere sflutamme osfnflasiu s,
Al ugpfleugmes B) dAphe oamafleusmd
C)  ugharl D) CGuheg 2 sdlrnlgCpei .
Which among the following geographical areas was not inhabited by the early
Aryans 7

A) Baluchistan B] Eastern Afghanislan
c) Punjab D)  Fringes of Western Uttar Pradesh.
ussher ampglaug vallp JUTESEESS SIqluaL HTTemD
Al Gamul Bl @&ae
Q) Gugsn D) syms .

The root cause for all sufferings of mankind according to the preaching of
Buddha is

A} anger B} lust

C) pride )] desire.
N& Coug sre sl gl FapsmSamolly sgl ?
A) el yglés GHbDUDL

Bl spoa siflés @hbud

Q) pri s flés EhHoud ovhpb shes 2 Hes GHbUD
D) @eeu agabidame .
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The basic social organisation of the Rigvedic people was
Al Matriarchal family
B]  Patriarchal family
¢)  Both Matriarchal and Patriarchal families
D) None of these.
128, s @eddiun eagsiu Guom !
A o el B) bl
Q) wwdled D)  eeuwiTenDd .

Sangam literature was written in

A) Avadhi B} Tamil
C)  Mailthili D)  Malayalam.
129. wopdlyoras Bt aEp sokgh uTeme & gdluat
A)  Hoapet Bl @ rensiliht
C) sadmesiu D) whsmewutsrumt
"Mandiram Avathu Neeru" the song was written by
A) Thirumoolar B] Gnana Sambandar
C) Kannappar D}  Mangayarkaraslyar.
130, usheve nasTatse Bleuhniel aang sgallemiash 2
A)  apgentopld B) uss wsld
) @._'};g] 158D D] emga LHD.
The Pallava rulers believed in
A) Jainism B] DBuddhism
c) [Tinduism D)  Shaivism,
131, Seraimaiarampdié srese afluns Qurmheaiidane 2
A)  swwTem eumDLLSET — Art. 16
Bl oy e flems — AL 19
Cl  aunpéme ohnid sSHET z flamo — Art. 22
D} s audg erdlnnen 2 flanio — Art. 24.
Which of the following is incorrectly matched ?
Al Equality of opportunity — Art. 16
B Right lo association — Art. 19
C) Right to protection of lile and liberty — Art2d
D)  Right against exploitation — Art. 24,
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g qpen Bhiu siflueeniy sCLsfs weoeT SHEEILUCLS ?

A GO0 Yo B @® wer

C)  apEID (D D) Aessiu aldane .

How many times the preamble of the Constitution of india has been amended 7
A) Once Bl Twice

C}) Thrice D) Never.

ulgwé I g ulguée Mo & Gurmad. LGy Gar@aaiul s ETE & enon &
Qarein® efure eflen. g Carpbls® :

utiguee X ulgwe IT
a) @geinlucl] palennuinT et 1l Geudlevenosdl

b @yowiueiurasd Gatple@ans  2) qnL #le

¢ @yeotiueiiurers Liliha) 3)  srperairalleu
d)  @genoliue asmmiLREEe . 4)  GuésrGe
e :

a b c d
A) 2 1
B) 3 4 1 2
c 4 3 2 1

D) 1 2 2 4.

Mateh List I with List II correctly and select your answer using the codes given
below :

List I List II

a) Modernisation of civil service 1)  Wellesley
b) Recruitment of civil servants 2]  Atckison
c) Training of civil servants 3] Cornwallis
d) Classification of civil service 4) Macaulay
Codes :

a C d
A) 2 4 1
Bl 3 4 1 2
C) 4 3 2 1
DY 1. % 3 4
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=4
FLLDED Seajcndleller :’L@illﬂmfra;ﬁlﬂéﬂ sanalsms aEb@ S GOPUs saLrg 7
A) 50 B 25
C) 40 D) 30
The strength of Legislative Council members shall not be less than
A B0 Bj 25
C) 40 D)  30.
Gihlu sy Hueasty sCLsfla Gnmany faa gpep GuplucL g
A)  @bdu opertsm sl b, 1935 efmha
B) USSR efleblimma
C)  USA elledlmsl
D) Qs Glauiind spflusenoiy si shlelmba.
The emergency provisions of the Constitution of India was borrowed from
A)  Government of India Act, 1935 B) USSR

C) LISA . D) Welmar Constitution of Germany.

@bsu snl il d ea@ug e

A)  golidlenemnig sailtm’ 4 B] o cimenwowren salmié
C  uresrdsiul L st e é D} CupsenL agabldae .
Indian Federalism is

A)  centralised federation B} pure federation

€C)  decentralised federation D) none of these.

UPSC e sy ol ey senLd Lend) e 2
A)  Gazrey B) dlubsnb
C) enemeilésd D)  ueldlwigse .

The final work of UPSC in recruitment process is

A} selection B]  appointment

C)  certification D]  placement.
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@bdl oy dlwesennliy sl sdle 206 auflariy Grdlepon Carluriem
Bafsmsen Bmnbeb

A wésarlél spsrissos e ndlufsases

B) e Sr@e Sionsse

O  pellpGarflan aurpéas srdams s whdgse

D} eusllewura wrifle sysrissoas ghURSES .

Directive Principles of State Policy were incorporated in the Constitution with a

view Lo

A). ensure Democralic Government

B)  establish Welfare State

C)  raise the living standard of weaker sections

D) provide a strong State Government.

ughaTEs TTH Seniuser fifisare sflsb prgdisiug

A)  ooeheant eufl B Gerdg sufl
C)  syyaris Hdl D) éply eufl .
Panchayal Ra| institutions depend for funds mainly on

A) Local taxes B)  Property taxes
C) Government finances D] Special taxes.

aps @il waeed pasers puilsasiidar groran Utprepnspsge Clarai@

ST L 57
A) 1960 B) 1863
C) 1964 D) 1967.

In which vear for the [irst time was no-confidence motion moved in the

Parliament ?
A) 1960 B) 1963

) 1864 D) 1867,
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141. utgwe I @ ulgué ITed G‘rurr@g,gﬁ £Qp Qar@estiuGorer GRlHsamens:
G‘laarrmﬂ stlurer eflem_mws CariGa®

uCig e I U igwes 11
al  @yurs soeafla Bfans s@lario 1) Article 56
bl @yure seeeafld ugallaren 2) Article 55
c) Guwrs Semeeut Catme 3)  Article 61
d  @yuwye soant ugall dasnh 4)  Article 53

) Article 54

@IS Maef ¢

a b c d
Al q | 5 3
By 4 2 I 5

C) 4q 1 2 3
Dy 4 5 3 2

Match List I with List II correctly and select your answer using the codes given
below :

List I List I1
a)  Executive authority of the President 1] Article 56

b} Tenure of the President 2) Article 855
c) Election of the President 3] Article 61
d]  Impeachment of the President 4) Article 53
5) Article 54

Codes :

a b é d
Al 4 1 5
B) 4 2 1 5
C) 4 1 2 3
D 4 5 3 2
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ereupaueraupenp afles Syvors Qsren® euTa

A) CBIl, ESMA, SSC, CAT Bl ESMA, CBI, CAT, 35C

PGEKI

C) CAT, 55C, ESMA. CBI D) CBI, CAT, SSC. ESMA .

Arrange the following items in chronological order :

A) CBI, ESMA, SSC, CAT B) ESMA, CBI, CAT, SsC
C) CAT, SSC, ESMA, CBI D)  CBI, CAT, S5C, ESMA ,
143, ulgqud 1 o ulgud Ooodr Gurmgd), #Cp Garfssiul Berer @illpaaens
Qaresn® aflures aflen_mwug CathEia®
U I uC e II

al  ngdlu ulgwd 1) eppaiude slib wppd aflapsan
b)  wrfle uligud 2)  urgismiy
¢)  Glurg ulgué 3 Qurg gopssn whpid sreaud
GO G :

a b c
A 1 3
B) 2 ] 3
c) 2 3 1
D) 3 ¥ :
Match List I with List IT correctly and select your answer using the codes given
below :

List I List O

a) Union List 1} Criminal law and procedure
b) State List 2) Defence
¢] - Concurrent List 3]  Public order and police

Codes !

a b ¢
A) 1 2 3
B 2 1 3
Q) 2 1
D) 3 2 1
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Yl sdells Qansieis 10 + 2 + 3 papew SPlusdudsiius.

A Ofligely @mdlur B) ardadlysy

C)  dluwe D) 2@gsdos .
New Education Scheme 10 + 2 + 3 was introduced by

A)  British India B)  Congress

C) DMK ] AIADMEK.

ahp L@ Clgen Ebflu po e fow shab gHUBSSOLC LS 1

Al 1914 B) 1915

C) 1916 D) 1917,

In which year was South Indian Liberal Federalion formed ?

A) 1914 Bj 1915

C) 1916 D) 1917.

1974 -b syen ehg wniles Hgsrisn wrdle surld Froratgaos
Qs i Reub g

A giogp syt B JSart

C) o pdlninGaen D) sllpErE. _
In the year 1974, which of the following Governments passed state autonomy
resolution ?

A) Jammu and Kashmir B) Bihar

Cj Uttar Pradesh )  Tamil Nadu.
sBlpasdler Qurgs prawsur 2 plilet set

A) 12 B] 14

cl 16 D) 18.
The total strength of Rajya Sabha in Tamil Nadu is

A) 12 Bl 14

C) 16 D] 18.
FBlpETC & gesdalsd Al sos efiweluBsdluet urd 2
Al Elorgng B) @grosmd
C)  smogrs D} Qouedgm .
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Who was introduced the Kulakallavi Scheme in Tamil Nadu ?
Al Rajaji B) Ramaswamy
C) Kamaraj D) Jayalahrmaa.
149, glprircigd Lryresosy gafl QaT@sad aaema 2. s 1
A) 4 Qg mdlner B) 5 @gr@dlmsn
Cl 6 Qarmdlest D] @emeu arguebléosman .
How many reserved Parlimentary constituencies are there in Tamil Nadu ?
A) 1 B) 5
cl 6 D) None of these.
150. 1926- b S0 |
A fdes 8 whhfl saue sewbsE
B oo @bfu srmdye sl dddé wiptd Glesiaariié sl QuhDE
)  Fymeliien bl aungl updlfibens QgL disiu L g
Dl G agebldame.
In the year 1926
A)  Justice Party formed its ministry
B)  All India Congress meeting was held in Madras
C) Dravidian Tamil weekly was started
D) None of these.

151, uasssw Yyt s etiGurg 2 gpeuTeTg ?

Al 1960 - in pya wigllle B)  1950-ib s widhild
C) 1970 -ib oo widiile D) 1980 -b yn® willln.
The Green Revalution came on the scene around

A)  mid 1960 B] mid 1950

) mid 1870 - D} mid 1980.

152, wessitEreas QUBAHD GO e huse sTyesil. Sypama e wrHps gHuFng 7

A) ELb Guwise B) dlf = sal
C) QGurmenary euemtés D)  Ges agabldae.
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Demographic pressure acts as a push factor in
Al migration B)  financial assistance
C}) E:,;unonnc growth D) none of these,

153, Lmée i @, O, Bedemawr gemaniflorar afl wrhflusniy sa auGurg
2{Emb&HEHILIC L &

A) 2 e, 1990 Bl Gl but, 1992
C) Smeau’, 1991 - I-Ji gveit, 1993,
Dr. Raja J.Chelliah Tax Reforms Committee was set up in
A)  August, 1990 B)  September, 1992
) August, 1991 D] June, 1993.

154. yflw Glgmfipermesst Eicn suGurg o mambsiu Lg
Al gremes, 1891 B)  grar, 1992
Cl  &Gmur, 1996 D) gesaifl 1994
When was the New Industrial Policy announced ?
Al July, 1991 B)  June, 19892
€C)  October, 1996 D) January, 1994,
155. augemniflen Blapey upflu yerel cllagiiset iy sersdliu@dng 7
Al edg me, (NAS) yerefl alicuriaet - Cadlu samégmen
B}  aen.ad.een. (N.5.S) yarefl ellamiiset - ludnm' @ Ceeaser
C)  (A) wbpb (B) o élu Gren@n
D)  @meu agiepbidme.
The incidence of poverty can be computed [rom
A) NAS data on national accounts
B}  NSS data on consumption of expenditure
C]  Both (A) and (B}
) None of these.
156. weilg sHnGLs GPsa e s urerd auCurg perl Qubps 7
Al 1970 B] 1972
C) 1981 D) 1985




157.

158.

158.

160.

5l PGHI
The World Conference on Human Environment was held on
A) 1970 B) 1972
C) 1981 D) 1985.
HHW wressGour surflub aps 2 and SEmosstiuc L g 7
A) 1989 B) 1985
C} 1981 D) 1991.

The Central Pollution Control Board was set up in the year

A) 1989 Bl 1985

C) 1981 D) 1991

cuen efleoki@ Lrgsriusd Siih ahs S H e HeUTSSULILL§ 7

A) 1970 B) 1972

Cc) 1990 D)  1986.

The Wild Life Protection Act was formulated in the year

A 1970 B) 1972

C) 1990 D) 1986.
sflpprig e, 2001-b sy e néaallares samb@lug Ths LTl LD HNHle
&6 i TEE & e wg 1

Al seneiiun o 'B)  fmeusigneut

Cl  sLeyTT D) GCeugyrtt.

In Tamil Nadu, the district with highest density of population

is (as per 2001 Census)

A)  Kannlyakumari . B)  Thiruvalluvar

C) Cuddalore D) Vellore.

Bndu serald gllpad nhaateraads aps Haedls e semg 7
;ﬂ o @b B] opeprd @i
C) ukard @b D) @ik Gl-b.

In population among the all states in India, Tamil Nadu occupies the
A)  sixth position B}  third position

C) tenth position D) fifth pesition.
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161.

162.

163.

164.

165.

52

asiflpsggen waseGETens, 20010 SuEnf sexThGUUs aaausTa ?

Al 62.4 blévsllue B]  60.3 dleebhue

C) 64.4 bléuedleir D) 61.5 A,

The population of Tamil Nadu was (as per 2001 census)

A) 62.4 million Bl 50.3 million

C) 64.4 million D} 61.5 million.

bl sereilds sBlpen aoppafialie abhs Fleneullldy 3 eirengy 7

A) GPEDILIHITID @b B  gpmb @b

C)  uflapeipri G b D) uggrd GLb.

In literacy among the all states in India, Tamil Nadu occuples which position ?
A} Ninth position B)  Seventh position

C)  Thirteenth position D)  Tenth position.

@l (Eg;.;ﬂu.r sl B ctifley Gr s ebg sblly funfla Glaugg

A)  moélibwer sibllg B) ¢.aib. @eyGym sabllg

C) Ehdu s’ Boey sibllg D) Qpasgrgs sbily.

Which committee has recommended the establishment of National Co-operalive
Bank of India ?

A) Narasimhan Committee B) AM, Khusro Commitlee

C)  Indian Co-operative Committee D)  Rangarajan Committee.
glné, 1935 @bglu Nete aukid) QpErssiul L CUTE SiBe (paei® (Capital)
A) 15 Gamg B) 5Gany

C) 10 Gamg D) 7Gsny.

The RBI was inaugurated in April 1935 with a share capital of

A} 15 crores B) S cores

C} 10 crores D) 7 crores.

UTI - GgrLisurL i

A dogeufl, 1974 Bl dogeufl, 1964

C) wrié, 1970 D) webut, 1960 .

The UTI was formally established in

A)  February, 1974 B) February, 1964

C) March, 1970 ) December, 1960.
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166. &' gfll_l_gglem goemsdll L wre e Sadflusr HNonpgeadr b

167.

168.

169.

GlerLmsliul L &7

Al pawst Sgro subledl Sl

B) sy Qgupdl Ayme svaulrrgat gl

C) Ggdlu dlgroiup Ceuse eurbity i

D) Geuemen euribiiny s gdlreurpd FCL b

The Million Wells Scheme was launched as a sub-scheme for
A)  Jawahar Gram Samriddhi Yojana

B)  Swarna Jayantl Gram Swarojgar Yojana

C)  National Rural Employment Programme

D)  Employment Guarantee Scheme.

Lrsit L.C. glgr G abg Geudur’ el swusfiiughers Hlulfléasiul g 1

A ulgdshang B sridlips sbQueflsslr

C)  cuenfls culidlsei D) A Ppsusiiiseilen auerts s,

Dr. L.C. Gupta Committee was appointed to look into the working of

A)  Stock exchange B) Insurance companies

C) Commercial banks D)  Development finance institution.

@i geamdludl, @pdu spflusenniy slsdlar epg Uflalldar & Mflssapana
A AT

A Oifey 320 B) ifley 280

Q) e 356 D) e 325.

Under which Provision of the Article of the Constitution, the President is
required (o appoint Finance Commission ?

A)  Article 320 B)  Article 280

C) Article 356 D) Article 325.

rpler Qamflés Friurub wreny s steT &8l o oferg _

A) o és gFloanp FAlugl B) 2 45 piludip goewen BsEud
C) s wh pdlusp gElugl D) wraull Qseayeray fglugfl.

The industrial tribunals are consisted of a person of the rank of

A)  Supreme Court Judge B}  Chief Justice of Supreme Court
C)  High Court Judge D)  Sessions Court Judge.
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170. @hHunaler Guyeney Gamfiperoasdi Blaah UpmoUTETg

171,

172,

173.

Al @Gy aske Carfibsrme B usad s Qarfiperon
C) saod Ggmpihemame D) erdg Qarifiherae.
The oldest large scale industry in India is

A) Iron and steel industry B) Cotton textile industry
c)  Jute industry D) Paper industry.

Sipg sw@iae) praflsgde ganaps pojb og ?

A Gergge B)  smeflubiser

C)  gyut D) Guragesr@yr .
Which was the port town of the Indus Valley Civillzation ?

A Lothal B) Kallbangan

C) Ropar D) Mohenjodaro.

NeCaig sarbamysdle apbhlu Sy dluefliy

A g - sheas LTSS HE

B)  ugpenl whpio ig doebl uE#

C)  Sps uehenpETHS

D) Sha wppin sarsiDe @e L ugd

" The main focus of the Rigvedic culture was

it} the Indo-Gangetic Valley
B) the Punjab and Delhi reglon
¢) the Indus Valley
D] the region between the Swat and the Indus.
fpbaa QTsSuRSET seuedl :

smpmy (A):  &fhene 1905 & aserarsams dfgart
sirgemns (R): St Caflu ghpemsou sif&s algbient
£Cyp G PILI - Geiren P gd sflurer alleoLmus Batipbisd
A (A R b el Reaug (A) S efiurar allsés.
B) (A sfl syeme (R gaup.
c (A)k R b sfl. ggemed (R) aalg (A) eSpe sfures allerébal S,
D) (A whpd (R) BBl Heuprerene.

(701




174,

175.

Consider the following statements :
Assertion (A) :  Curzon partitioned Bengal in 1905
Reason (R) : He wanted to destory nationalistic unity.
Now select your answer according to the coding scheme given below !
A Both (A} and (R} are correct and (R} is the correct explanation of (4)
B) (A} is correct, but (R) is wrong.
C}  Both (A} and (R} are correct , but (R) is not the correct explanation of (A)
D) Both {A) and (R) are wrong.
dpbmetorL eurhdluimenen &euad
dp (Al yeuren sk gntegt s d srasdda @idluradpe bt .

angeaond (R): owufldn qpédlu Crréan uss S, euhmenen urteaul Goldo@n
aauBs.

G @RI Bsten @l qé sflure el eowd CatpQa® :

Al {A)D (R)b efl. (Rlesug (A)alde eflune aflerdas,

B) (Al b (R} b s). gyemrés (R) arug (A) ellne sflurar aflendsin e,

CI] (A) aifl gyemmés [R) geupy.

D) (Al npnib (R) @raer®n sfurerana.

Consider the following statements :

Assertion (A) :  Hiuen Tsang came India during Harsha's rule.

Reason (R):  His main objective was to visit Buddhist shrines.

Now select your answer according to the eoding scheme given hclm-.:- :

A Both (A} and (R] are correct and (R} is the correct explanation of (A4)

B)  Both {A}and (R} are correct, but (R) is not the correct explanation of (4)

C) {A) is correct, but (Rjis wrong

D)  Both {A) and (R} are correct .

By eThiong' erapdlug w2

A Guelhdlymrd sreat B]  usdlb spdly ssGamudumur

C) spahet D) vczsse phe.
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Who wrote ' Ananda Math' 7

A)  Rabindranath Tagore

B) Bankim Chandra Chattopadhyaya

C)  Aurobindo

D) Madhusudan Dulla.

UL I utgue Mo Guresd, £6p Qer@asiuc@etar @BluGsoens
Garam® sfure aleewg Catplls® -

U igwes I uCigwé I

sy pesaartsd Blqplb g stor@Bid
a) ot ge 1) ewesrurd 1888
15) IR ¢ YU o0 2) wabanr 1899
c) S| Glusein 3 sasser 1917
d)  sGrrghledl pry® 4)  asrenyt 1928 .
@iiheen :

@ b c d

Al 2 3 8| 1
B) 1 2 3 4
C) 1 3 %4 2
Bl 2 4 3 1.

Match List I with List II correctly and select your answer using the codes given
below :

List 1 . List II
President of Congress Place and Year

a) George Yule 1)- Allahahad, 1888
b) Dr. R.C. Dutta 2] Lucknow, 1899
cl Anmnie Besant 3] Calcutta, 1917
d) Sarojini Naidu 4) Kanpur, 1928.
Codes :

a b c d
A) 3 4 1
B) 1 2 3 i
C) 1 3 e 2
D) 2 4 3 5
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177. syudGautser shsEhLL Spwbd Qrduralé ghu@ss wrflib siguodlemud

Glupmentt 2
A) Sugs Lt B) saprhat
C) egm@aTe D)  epenyiimdl

The British received permission to establish their company in Indla from
A) Akbar B) Jahangir
) Shahjahan D)  Aurangzeb.
178. ‘Qaenfl Qeenyr sbusuld ati@uraps Hephsgl 7 '
Al 1920 B) 1923
Cy 1922 D) 1921
When did the 'Chaurl Chaura’ incident take place ?
A) 1420 . B) 1923
C) 1922 D) 1921.
179. s sragdld Curt slaliy iy allebssd
A)  uenssusllel sunend T Gl B
B umacalld allekdeans saufhe
C) usmseuafan Ganl el e enalDiHe
D) wreneniflen arerd uasasis udiaaa siflssd.
During the Sangam Age, war was usually declared or provoked by
A) cutting the tutelary tree of the enemy
B)  lifting the cattle of the enemy
C)  besieging the enemy's fort
D)  crushing the crops of the enemy’s territory under the feet of elephants.

180. Qo prev weTgemsmu elGUTARE 2 (HauTHBULCLG T

A) 1883 Bl 1882
C) 1884 D} 18886
When was the Madras Mahajana Sabha formed ?

Al 1883 B) 1882
C) 1884 D) 1886.
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181. Spsacnabifle ag faat QUIGSSLTS ?

A) L Gamen cuenELLTH = aEmerTiams UL wiss silsurih
Bl Gerof susmslun — sregbigrt alleuyib

C) oaoncisams suemasiium® — umd alleunib

D) &0 susm&Oun( — susL rhdly alleugd .

Which one of the following is correctly matched ?

A)  Geographical classification —  Walue based data
B)  Chronological classification —  Time series data
) Quantitative classification —  Area wise dala
) Qualitative classification —  Yearly dala.

182. dpaoamcupdles erg Slas sflurang 7
A)  Guihi e - SyDlsema gurflise
B) Gamuré — seofle samndel
) Garfileuomt _ curesfiLd oesdh
D)  erdbleves - vt g uwedHad

Which one of the following is correctly matched ?

A) FORTRAN — Typing a text

B) COBOL — Mathematical calculations
C) WORDSTAR — Business calculations

M EXCEL — Tabulation.

183. ulgué I g ulgued Mo id Curesdl, 40 Gar@asiul@sisr @i Hemens
, Genen@ sflurer el amwus Gaitbis® -

U igwes I ulmwe II

al e sl 1) sesud Camfliuat
b)  pme Hleves yehel aflaurd 2) s&auc sHual
c) e &1 e i 3  saeus Ceaflly
dl @EuisaEss 4]  (Hs SRR .
eOfGeeT :

a b c d
Al 1 2 S 4
B} 2 3 4 1
C) 1 4 2 - 4
Dy 2 + 1 &
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Match List I with List II correctly and selecl your answer using the codes given

below :
List 1 List IT

a) Respondents 1) Person collecting inlormation
b) Primary data 2)  Person giving Information
c) Enumerator 3) Collection of data
d Census 4) First hand information
Codes :

a b c d
A} i 2 3 4
B 2 a 4 1
C) 1 3 2 +
D 2 4 1 3,

184. PA) = 0.6 whpi PB) = 0.5, seflé dpsacnappet &§ aflument gl 2
A Avppib Bgifluer elless Bepasst
B) Auwppb Beifluen ellessr Gapaser
C)  Auwppiv B gyfue Byt Hlspass
D) @eveu ageylidma .
If P{A) = 0.6 and P{B) = 0.5, then which one of the following is correct ?
A) A and Bare mutuallly exclusive events
B) A and B are not mutuallly exclusive events
C) Aand Bare complementary events
D}  None of these.

185. 10 &g 30 &gk G Cu osier U&T SreEn Eel G HRENET 1

A7 B 4
€ b5 b} 6.
How many prime numbers are there in between 10 and 30 7
Al 7 B 4
C) o D] 6.
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186. senfafllle go HBaraul. uhpb o Guar au’ wanCu aspeés solb
A) 1000 evulseh whpud 100 SGamenul sef |
Bl 1024 enul ss’t whpb 1000 #Gerenul seir
Cl 1000 ssuc et whmbd 10000 e’ s
D) 1024 emun’ gelr whmpnd 100 HGeuranu’ sei
In computers, 1kB and 1MB are respectively equal to
A) 1000 bytes and 100 kilobytes
B 1024 bytes and 1000 kilobyles
C) 1000 bytes and 10000 bytes
D) 1024 bytes and 100 kilobytes.

187. Awppid Beér Gurgs awg spGurg 110, Qoug auorgfibe qpary seutaef
g aldzin 4 3 aaflde Adr auug

A) 60 B) &5
- €} 50 D) 35

The sum of the ages of A and B is now 110 years and their ages 20 years ago
were In the ratlo of 4 : 3. The age of A Is

A) 60 B) &5
C] 50 D) 35
188. x= i—y Wippn Y = %z aedles X ! Y ! 2 6@ SwIDTETH

Al 1245 Bl 4:1:5
C) I:5:4 ) 1:4:20.

Hx= iya.ndy= 51 z then x:y:zis equal to

A) l114:5 Bl 4:1:5
C) 1:5:4 D) 1:4:20,

189. sty suglifleyeter wremeutsefler aildlsorag 2: 3: 5 o6 o ereng. aaGeaurt
cugllleun 40 vremautsa sflsfleeh Gury alldlsnrarg 4 : 5: 7 g5 wrlysterg
aaflés Guauns Guorgs wrematssflda ol sssuras)

A) 100 B) 180
c) 200 D) 400
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“he students in three classes are in.the ratio 2 : 3 : 5. If 40 students are
increased in each class, the ratio changes to 4 : 5 7. Originally, the total

number of students was

A) 100 B) 180

Cl 200 D] 400.
Seireumeuaneuppiet absGeurp) sflwrs GuTEmbeFng 7
A) 1235 — wir i)

B  GOD — wrifled

C) A+B — Cariene

D) A+50 — soradwes wriblell.

Which one of the [ollowing is correcty matched ?

A 1235 — Variable

B) GOD — Constant

C) A+B — Expression

D) A+50 = Logical constant.

100 - &&ib, 120 - &b @ e Cuuystrem Lz o i meila saf@mes WTH 7
A) 424 B) 533

C) 648 D) 650,

What is the sum of all prime numbers between 100 and 120 7

A) 424 B) 533

) 548 D) 650.

| 3 @eonssuuc dHevaufié 21, 28, 36, 45 SLEwaDDTE Fdilendl auguED
Bloseophe s urg 1

Al 420 Bl 1267

) 1260 D) 1263

The smallest number which when diminished by 3 is divisible by 21, 28, 36 and
45 1is

A) 420 Bl 1257
c) 1260 D) 1263
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193.

194,

1956.

196,

x|7||]l

62
apstiy srameeilen alldlsusst 35 55 : 77, spsupPler BLUGuE GurgssTrest 24
arafilen yelilacdn et Wrena 7
A) 420, 660, 924 B) 280, 446. 616
C) 840, 1320, 1848 D) 106, 165, 231.

The ratio of three numbers is 35 : 55 : 77 and their HCF is 24. Then the
numbers are

A) 420, 660, Bid B) 280, 440, 616
C) 840, 1320, 1848 1) 105, 165, 231.

FH su@ulle 60 wremmeutaet o sienant. shdlaghle 75% wreaoeut st Guitéd
Glupaildene. 45% wrasatast siflaluedlls Catsdl GQupaldme eeafld Gedaim
unL et Guitéd Quprs wramatast apgmer Gut 7

Al B B) 6
c) &8 D} 12

There are 60 students In a class, In an examinaton 75% of them had fatled in
English and 45% of them had failed in Science. How many had failed both in
English and Science 7

A B B 6
€] 8 D) 12
s Phe LeT aanseldn syral wrs 1

A} 5O B) B2
C) b6 D) 6.0
The average of the [irst five prime numbers s

Al B.O B) 5.2
C)] b8 D) 6.0

4% s’ (§ ulg afpgdld Qrand caumohseild ¢.1,352 56 sou Cigmeansulle
Elly adrar 7

A) 1300 erumb Bl 1200 grumb

C) 1250 smumil D) 1260 ssumd.

A sum amounts to Rs. 1,352 in 2 years at 4% compound interest. The sum is
Al Rs. 1,300 B} Rs.1.200

C) Rs. 1,250 D} K=, 1,260.
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198,

199,
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b UL@ Hlencoumen [Biles weflae 15 &8 Casgfle Gramdlpg. weflag 3 £
Caspdles FCrmiLd o etery eafla 12 Pl assile FGrriL Flansllds L@
@l geueuihEnig I EITTD

A) 3.6 .6 Bl 2444

C) L1588 D) 1.8 &8,

The speed of a boat in still water is 15 km/hr and the speed of current is
3 km/hr. The distance travelled downstream in 12 minutes is

A) 3.6 km B] 2.4km

C)] 1.5km D) LBkm,

samefaory Guréd sbsd 19 wvidg A l@Uug bpg @Qatny 9 bLBE
coLymiuy seflé ganafopl Gurée 15 wLbe FaL e @l allo
o Gansnseat Gotsy romaursdlu o Gars swaoadls @bs o-Garahes abs
alldlzhdler Gmien ?

A) 1.2 Bl 2:3

C)y 3:2 D) 19:135.

Gold is 19 times as heavy as water and copper is 9 times as heavy as water. The
ratio, in which the two metals should be mixed, so that the mixture is 15 Umes
as heavy as water, is

A) 1:2 B 2:3
C) a2 D) 19 : 135.

5© Cauomasu 3 gensesh, 4 fpatsessd 8 prisdla wpyliurtsd. G
Gauomwmou 4 siasgh 4 fpatsed 6 priseld ggourtsst aailan 2
semeah 4 fgatead sdlumumu appoe EL saflés apg iUt est 7

A 10 mr el E] 12 i sai
C) 15 mrl selr D) 16 BT .

If 3 men and 4 boys can do a work in 8 days while 4 men and 4 boys can do that
work in 6 days, then 2 men and 4 boys will finish it in

Al 10 davs B} 12 days

C) 15 days 8] 16 days.
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200. Gy wrdiflurer Qsudur@smerd @surEn@ &Gy srliul efen UL tiseflgyeirar
aamse gildsiulrd all@ul L eredor wrg? -

6 9 3
1 5 2 0 5 3
131 [ 248 ?
4 4 B 7 1
3 6 9
A B C
Al 320 B) 274

C) 262 D) 132.

If same palterns of operations are followed in all the three diagrams given below,
then the missing number Is

6 2 2
1 _\/ 5 2 0 5 3
131 248
3 TA:: 4 | 8 7 1
3 5 9
A B e
Al 320 Bl 274
) 262 ' D) 132.
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( SPACE FOR ROUGH WORK )
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